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2. (6 points) Consider the following four sets:

S={(z,y) : y=x’} CRxR.
R={(y,x) : y=2?} CRxR.
Ry ={(y,z) : y=2% withz >0} CRxR.
R_ ={(y,z) : y = 2* with <0} C [0,00) x R.

For each these sets, determine the following

i. The domain space
ii. The domain
iii. The codomain

iv. The range

Then, classify each set as either a relation or function. Justify your decisions using the appropriate
formal, set-theoretic definitions from Lesson 2.
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3. (6 points) Consider the ideal version of a Hooke’s law experiment depicted below. Suppose we hang
three masses on the same ideal extension spring and record the position data for that spring using a
metric ruler so that all positions are measured in meters. Assume also that the acceleration due to

earth’s gravity is g = 9.8 N/kg. Finally, suppose that the mass of the spring is zero and that this spring
satisfies an ideal version of Hooke’s law.
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Create a vector model that describes Hooke’s law by forming each of the following vectors

i. Mass vector m
ii Raw position vector x
iii. Spring force vector fj
iv. Displacement vector u
Explain your work and demonstrate how to use scalar-vector multiplication and vector-vector addition
in this modeling exercise.
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4. (6 points) Suppose we model a square using a set of four begin vertices given by the four vertices

o R

Define a set of four end vertices with the property that w; = « - v; + s for a special scalar @ € R and

special vector s € R?, where i € [4]. Under these assumptions, we graph both the begin and end vertices
for this problem in the figure below.
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Using this information, set up a system of equations that might help you figure out the specific values
of o and s used in this problem. Then, find these values and explain your work.
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5. (8 points) Consider the following model for a 4-mass, 5-spring chain drawn below. Note that positive
positions and positive displacements are marked in the downward direction. Assume the ruler gives
position measurements in meters.
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Use this diagram and the given position data, set up the vectors xg,x(7"), u(T) that we discussed in
class. Describe the significance of each vector. Also, show how we can use scalar-vector multiplication
and vector-vector addition to form u(7") from the vectors xo and x(T").
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6. (6 points) Describe as much as you can about Problem 0: The Applied Math Modeling Process. In order
to earn full credit on this problem, your answer should

i. Identify the stages of the Applied Math Modeling Process (including a diagram with descriptions)
ii. Explain where and how vector and matrix modeling arises in this process
iii. Describe how Problem 0 is related to our use of the word “given” in Problems 1, 2A, 2B, 3, and 4

iv. Be written in your own voice with as much unique thought as possible.
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For problems 6 - 8, describe each of the given problems in detail. In order to earn full credit on each
problem, your answer should accurately address each of the following :
i. Identify the problem statement
ii. Identify the given and unknown quantities (explicitly identify relevant dimensions)
iii. Identify the function description of this problem (explicitly discuss domain, codomain and range)

iv. Describe in as much detail as you can how each problem is similar to and different from the other
two problems in the list below.

6. (6 points) Problem 1: The Matrix-Vector Multiplication Problem

Solution: The matrix-vector multiplication problem is as follows:

Given a matrix A € R™*™ and a vector x € R", calculate unknown vector I» € R™ such
that

Ax=Dbh

The matrix-vector multiplication is a “forward problem.” In particular, let’s define the function
f:R* — R™, f(x) = Ax
In this case, we see:

e the domain of f is R"
e the codomain f is R™.

e the range of f is a subset set of the codomain R™. We know from our discussion in class that,
for some matrices, the range of f may be a strict subset of the codomain (meaning there may
be some elements of R™ that are not used as output by the function f)

Matrix-vector multiplication is a forward problem because we start with the function description
(defined by matrix A) and we are given one specific input value x in the domain. From this infor-
mation, we are asked to find the corresponding output value b in the range of function f(x). When
solving the matrix-vector multiplication problem, we map from the domain forward into the range.
Hence, we call this a forward problem.

The matrix-vector multiplication problem is intimately connected with the general linear-system
problem. Matrix-vector multiplication is the forward problem while the general linear-systems prob-
lem represents the backward problem (also known as inverse problem). As discussed below, when
solving general linear-systems problems, we start with a b € Rng(f) and produce all x € Dom(f)
such that A(x) =b.
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8. (6 points) Problem 2B: The General Linear-Systems Problem

Solution: The general linear-systems multiplication problem is as follows:

Given a matrix A € R™*" and a vector b € R™, find all unknown vectors x € R™ such
that

Ax =b.

Just like the matrix-vector multiplication problem, we can describe the linear-systems using the
function

f:R* —R™, fix)=A4-x
In this case, we see:

e the domain of f is R"
e the codomain f is R™.

e the range of f is a subset of the codomain R™ and may not be the entire codomain (depending
on the structure of matrix A)

The linear-systems problem is a backward problem because we start with the function description
(defined by matrix A) and we are given one specific output value b in the range of f(x). From this
information, we are asked to find all possible input values x in the domain of our function such that

fx)=Db.

When solving the linear-systems problem, we begin in the range and work our way backwards to
the domain. Hence, we call this a backward problem.

Remarks (for students who want to earn the highest marks): In addition to the comments above,
here are some other remarks about this problem

e The solution to a linear-systems problem may not exist. If it does exist, it may not be unique.

A great analogy comes from solving backward problems for the nonlinear function f(z) = z2.

Let’s look at three backward problems:
A. Unique solution: f(r)=x2=0
B. Multiple solutions: f(:) =2 =14
C. No solutions: f(z) = 2% = —4

Although the theory behind solving linear systems is much different than the theory for solving
quadratic equations, analogies about the existence and uniqueness of solutions abound. Linear
systems problems may have:

A. Unique solution: b € Rung(f) and A has full column rank.
B. Non-unique (multiple) solutions: b € Rng(f) and A is rank-deficient.

C. No Solution: b ¢ Rng(f) in which case we can minize the difference between b and the range
of f: This minimization problem is known as the full-rank, least-squares problem when matrix
A has full column rank.
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Challenge Problem

9. (5 points) Optional, Extra Credit, Challenge Problem: Suppose n € N and let x,y € R™ with 2;,y; € [26]
for all i € [n]. Prove or disprove the following conjecture:

Conjecture: If [|x[|2 = [ly||2, then the entries of y are identical to the entries of x through
some permutation 7 : [n] — [n] with y; = z.(;) for all i € [n].
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